Installation Instructions

Precision Sport Shifter
2004 and up Pontiac GTO

(seewww.bmracing.com for the latest vehicle fitment applications and model years)
Part Number 45043

©2010, 2005, 2004 by B&M Racing and Performance Products

This B&M Precision Sport Shifter has been designed to work on most 2004 and up Pontiac GTO model vehicles
equipped with a manual transmission. It has beenengineered to greatly reduce shiftthrow and improve shifter feel. Check
the parts and tools lists at the beginning of these instructions for the supplied parts and the tools required to install your
B&M Precision Sport Shifter. Installation of this B&M Precision Sport Shifter can be accomplished by anyone with
minimal mechanical experience.

INTRODUCTION
This B&M Precision Sport Shifter can be installed in less than two hours by carefully following the instructions. Read

all instructions first to familiarize yourself with the parts, tools, and procedures. This kit contains all the parts necessary
to install the shifter.

Please note that vehicles used in competition or vehicles that my experience extreme vibration and/or heat may
require lock wiring (safety wiring) and/or other methods to prevent some fasteners from loosening.

1/4-20 bolt (2) @
shifter |(®) __ PARTS

Spring (2)

M8 x 50mm Set  ((F) i\\
screw (2) \\\ﬁ\\
Lock washer (2) @ G\ﬁ@

Flat Washer (2) [(©) Thin M8 Hex Nut (2) ()

Printed in the U.S.A. 9500806-03



5/16-18 bolt (2)
® PARTS (CONTINUED)

Thread Adhesive @ Top Stick @

M8 Hex Nut (2) @
@ Trans Gasket b
TOOLS
Socket(13 &10mm) Socket Drive Extension
=] i il
Pliers . Hex Wrench Screwdriver (flat)
“bel| (1/4, 3/16, 5/32, 4 & 6mm)
i
Torx 25
Jack Jack Stands (x4)

Vise & Hammer Wrench (13mm & 3/4) Screwdriver (phillips)

DISASSEMBLY

STEP 1. Remove screw at front of console.
TOOL: Screwdriver (philips)




STEP 2. Lift up storage compartment at rear of center console
and pull up on center console. Unplug wire connectors
for windows and traction control.

STEP 3. Pull up and remove center console.

STEP 4. Pull up on plastic retainer for shift boot.

STEP 5. Remove bolts (2) securing top stick of stock shifter.
TOOLS: 10mm socket & Drive.




STEP 6. Raise vehicle.
TOOLS: Jack, Jack stands (4)

STEP 7. Remove nuts (4) holding down rubber boot.
TOOLS: 13mm socket, Extension, Drive & 13mm wrench.

STEP 8. Remove rubber boot.

STEP 9. Remove torx screws (4) holding down shift cover and
remove.
TOOLS: T-25drive screwdriver.




STEP 10. Remove bolts (4) and screws (3) holding down shifter.
TOOLS: 1/4" socket, Extension, Drive & Screwdriver

(phillips)

STEP 11. Pull out entire stock shifter assembly, including o-ring.

STEP 12. Remove bolts (2) holding down GTO trans base.
TOOLS: 6mm Hex, Extension & Drive

OPTIONAL: Front (2) bolts of GTO trans base can be
removed, GTO trans base removed and
gasket can be replaced.

GTO Trans base[

STEP 13. Remove stock knob by holding stick in vise and hitting
knob with wrench.

TOOLS: 3/4" Wrench, Hammer & Vise




ASSEMBLY

STEP 14. Install B&M shifter using (2) 1/4-20 bolts, (2) lock I - M2 ASSEMBLY
washers, (2) M8 nuts, (2) M8 thin nuts and (2) M8 - - : P i
washers. ) ' : A

(SEE DIAGRAM BELOW FOR DETAILS)

TOOLS: Screwdriver (flat), Hex Wrench (6mm), thread

adhesive, andwrench (13mm)

NOTE: FAILURETOUSE THREAD ADHESIVE COULD
RESULT IN SHIFTER MALFUNCTION.

1/2-20 BOLTS

Torque 1/4-20 bolts to 8-10 ft-Ibs.
Cautiondo not overtorque bolts!!
Torque M8 thin nuts to 8-10 ft-Ibs.

Torque M8 nuts to 15 ft-lbs. M8 NUT /|\
" M8LOCKWASHER 9"
Leave approx. 0.9" of M8 set M8 FLAT WASHER \l/

screwthread above GTO Trans B&MBASE

afterlockingdown GTO Trans. M8 THINNUT

GTOTRANS
GTOTRANS GASK ET/

STEP 15. Reinstall rubber boot.

NOTE: On some earlier models a black boot was used
which may need some trimming of the opening to
allow for full gear engagement of 1, 3 & 5th gear.
Or you can replace the black boot with the newer
white boot, GM P/N: 92169196.

STEP 16. Install top stick @Jsing (2) 5/16-18 bolts and
thread adhesive.
TOOL: 3/16 Hex and adhesive.
Torque bolts to 26 ft./Ibs. (35 N/m)
NOTE: FAILURETO USE THREAD ADHESIVE COULD
RESULT IN SHIFTER MALFUNCTION.




STEP 17. OPTIONAL: For more self-centering action, you can add
the (2) springs .
TOOL: 5/32 Hex & thread adhesive.
Torque bolts to 13 ft./Ibs. (17 N/m)
NOTE: FAILURETO USE THREAD ADHESIVE COULD
RESULT IN SHIFTER MALFUNCTION.

THREAD 4
ADHESIVE

STEP 18. Reinstall nuts (4) holding down rubber boot.
TOOLS: 13mm socket, Extension, Drive & 13mm wrench..

STEP 19. Lower vehicle
TOOLS: Jack, Jack stands (4)

STEP 20. Install shift knob and boot by firmly pushing knob
onto B&M shifter and snap boot back in.




STEP 21. Reinstall wires onto windows and T/C switches on
center console.

STEP 24. Reinstall center console.

STEP 25. Reinstall screw for console.
TOOLS: Screwdriver (phillips)

STEP 26. Be sure all the parts have been securely tightened
and shifter engages into each gear.




INSTRUCTION ADDENDUM
FOR ALL TREMEC TRANSMISSION

SHIFTER APPLICATIONS
| ‘ //\

SHIFTER LOWER STICK \

INTERNAL RAIL CUP

INTERNAL RAIL CUP NOW SUPPLIED WITH TREMEC
TRANSMISSION SHIFTER APPLICATIONS TO REPLACE
POSSIBLE WORN INTERNAL RAIL CUP.

THIS CUP MAY BE WORN ON YOUR APPLICATION, PLEASE CHECKFORLOOSENESS AND REPLACE AS
NECESSARY.

INSTALL ON SHIFTER LOWER STICKAND INTO TRANSMISSION.

Printed in the U.S.A. 9500847-00



	45043
	45043-p2


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




